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Q1 Tick the correct option:

(i) Small quantities of liquids are measured in '
a) m/ b) / c)k/ ‘ d) mg

(i) 4kg 177g= g.
a)417g b) 4177g c) 40177g d) 4178g
(iii) 7912 + = not possible.
a)l b) 7912 )0 d) none of these
(iv) The next number in the pattern 12, 5, 11, 6, 10, 7 is
a) 8 b) 9 c)7 i d)6
(v) Weight of computer is measured in - 7
a)g b) kg c) mg d) none of these
(vi) 1000 + 1000 + %500 + %50 = .
a) % 2250 b) 22550 ¢) T 2555 d) 2250
Q2 Fill in the blanks:
(1) 7650g= kg g. (vi) 20000p=%
(i) 90000 m/ = l. (vii) 4/92ml = m/.
(iii) T8 and 35p = p- (viii) 50 rupees 40 paise =X
(iv) +3521 =0. (ix) 8765+1~=
(v) 25kg= g. (x) T45= p.
Q3 True/ False: ' i

(i) 4162 +4162=1.

(i1) 7 kg <9000 g.

(iii) 981 + 9 gives quotient, Q = 19.

(iv) 97120 m/ = 9120 m/.

(v) 13 kg=1300 g.

(vi)X32=320p.

(vii) 23, 19, 15, 11, 8 form a pattern.

(viii) 5 kg 600 g=4 kg + 1 kg + 400 g+ 100 g.

Q4 Put the sign >,<or =
G) 6ke80g [  |6kg880¢ (i) T10+350 [ ] T20+Z60
i) 108-12 [ J112+16 (v) 750m! [ | 7150ml



QS5 Match the following:

Column A Column B
(i) 61000 m/ a) T 560
(i) 15kg 328g + 16kg 460g b) 4074 g
(111) 1776 m/ c)61/
(iv) 4kg74 g d) 107
(v) 56000 p e)31kg788¢g
(vi) 749 +7 £) 17776 m/

Q6 Write the two multiplication facts for the following:

(i)64+ 16 =4 (i) 63 +7=9

Q7 Write the two division facts for the following:

()13 x9=117 (i) 16 x 6 = 96

Q8 Write the correct unit to measure the following:

(1) Quantity of cold cream in a tube

(i) Weight of an apple

(ii1) Quantity of water in a mug

(iv) Weight of rice bag

(v) Weight of an elephant

Q9 Continue the patterns:
(i) 120,114,108,102, 3 >
(i) 75,90,105,120, ’ 5
(1ii) 90,290,490, 690 , " >
(iv) AC,DF,GI,JL, : ,
(v) 34,37,38,41, . >

i) A | ,
= D G 05 OB

Q10 Using the weights of 1 kg, 2 kg, 500 g, 100 2,50 g to make combination for the following:

(i) 2kg350g -

(1) 5kg600 g -




Q11 Convert:
(i) 19kg602ginto g (i) 27 kginto g
(iii) 89000 m/ into / (iv) 97 8 m/ into m/
Q12 Divide and find quotient and remainder:
(i) 8723 + 4 (ii) 9852+ 6 , (iii) 6650 5
Q13 If the weight of 7 boxes is 364 kg , then what is the weight of 1 box?
Q14 4 trousers cost ¥ 5000. How much does one trouser cost?
Q15 A tin contains 45 / 270m/ of kerosene oil. 17 / 700m/ of oil is wasted due to leakage in the tin. How

much oil is left in the tin?

Q16 Ankur purchased 13 kg 252 g of wheat and 10 kg 127 g of the rice. What was the total weight of both

the items purchased?

Q17 Pankaj went to Deep Departmental Store and bought 2 packets of biscuits for 25 each, 3 packets of salt
for % 35 each and 4 chocolates for X 20 each. Prepare a bill for it.
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